Curstruction division. Advice for giving codic to enterestera/supplices.

E.N	in - also belle iss pay Rense:		1908		Date - sit Replater	e bills	31/1	123
Here	a of Cardenoles	1	1RMLY Jaring	Ra			GN	IR.
THE	an at week	F	ainting	work		To Date		-
1485	Valor havelost a	3.	Olde.	Resta	11111		10/	Canada
1.	F Klock for	11	11449	4	-	the state of the state of	796	
3.	Retains wa Panel room	11	2736	4	SEF	10	P00 942	
5.	a block pas	el.	1961	4		AND DESCRIPTION OF THE PERSON NAMED IN	86	
7.	soon wall	who do	337	15	-50 St	+ 5	217	
9. 粮	putly					A STATE OF THE STA	1	e objection
11.		shak			- Address of the Addr	80	3.24	
	special d	-	E JAO.		C67 WIL 16	ÇARAŞ	DYES	
	NO RR.	DN	Squired Stangings	dimensional and and	Management of POWIO do	est l	District of the second	
2000	: All	DON	les alons	-	- WWW			
						-		
Ages.	31/12		Approx Date:	red by	Design Tee	B · Agg	neved by	MD

There I. This caldes must be seen within? Any of completing quals 2. This floor see he was forwardedly below the first line designs, such week, tending stell committees. I. This seem and applicable – All Ma. A. Bellowie and applicable and manufactures are not employed for bandley later when publishes not use of early given.

							1	S No.	Date:	Prepared By	Contractor Name:	Work Description:	Project:	Company Name:	ESTIMATE SHEET
		F block Security room Wall putty	G block panel room				F block terrace Painting primer+ 1coat	Item Head			ame:	rtion:		me:	SHEET
		F block Security room walls	Panel room G block south side	Panel room F block	Retaining wall	Compound wall	Тетгасе	Item Description	23.01.2023	D. Nagendar	Narsing Rao	Painting work	Gulmohar Residency	MRMallapur LLP	
		337	1961	697	2736	1950	11449	Quantity							
		Sft	Sft	Sft	Sft	Sft	Sft	Units							
		15.50	4.00	4.00	4.00	4.00	4.00	Rate							
	80,384	5,217	7,844	2,786	10,942	7,800	45,796	Amount					Sign:	Approved by	
								Item Head Total						Approved by: Ramprasad	

																														-	S No.		Date:	Prepared By	Contract	Work De	Project:	Company Name:	MEASU
			G block panel room																											F block terrace Painting primer+ 1coat	Item Head			d By	Contractor Name:	Work Description:		y Name:	MEASUREMENT SHEET
columns	Ceiling		Panel room G block south side		Ceiling		Panel room F block				Retaining wall	Coumpound wall					Lifts	columns			Rain protection slab		Terrace rooms		Head room		OHT south side	OHT north side			Item Description		23,01,2023	D. Nagendar	Narsing Rao	Painting work	Gulmohar Residency	MRMallapur LLP	
1.00	27.00	8.00	27.00		13.00	14.50	13.00		40.00	47.00	40.00	150.00		6.00	9,50	6.00	6.50	1.00	16.00	18.00	19.00	11.00	7.00	18.00	12.00	29.00	11.00	24.00	2.00	100.00	Length	A							
1.50	8.00	1.00	1.00		14.50	9.00	9.50		1.00	1.00	1.00	1.00		1.00	1.00	1.00	1.00	5.00	1.00	1.00	17.00	1.00	1.00	1.00	1.00		1.00	1.00	1.00	1.00	Width	В							
9.00	1.00	9.00	9.00		1.00	1.00	1.00		8.00	6.50	4.00	6.50		80.00	80.00	80.00	80.00	7.00	1.33	1.33	1.00	8.00	6.00	9.00	9.00	16.00	16.00	16.00	2.50	3.00	Height	C					Sign:	Approved by:	
5.00	1.00	2.00	2.00		1.00	2.00	2.00		1.00	1.00	1.00	2.00		2.00	2.00	3.00	3.00	8.00	4.00	4.00	2.00	3.00	4.00	2.00	5.00	2.00	2.00	4.00	30.00	2.00	Nos	D						d by:	
67.50		144.00	486.00	696.50	188.50	261.00	247.00	2736	320.00	305.50	160.00	1950.00	11449	960.00	1520.00	1440.00	1560.00	280.00	85.12	95.76	646.00	264.00	168.00	324.00	540.00	928.00	352.00	1536.00	150.00	600.00	Quantity	E= AxBxCxD						Ramprasad	
Sft	Sft	Sft	Sft		Sft	Sft	Sft		Sft	Sft	Sft	Sft		Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Sft	Units	F							
				697				2736					11449																		Item Head Total	G=Sum of E							

					1	F block Security room Wall putty							
			Ceiling	columns		all putty F block Security room walls		Beams	Ceiling	columns		North side	Beams
	7.00	9.00	9.00	1.00	8.50	7.00		22.25	22.50	1.00	8.00	22.25	27.00
	1.00	1.00	7.00	2.50	1.00	1.00		2.00	8.00	4.00	1.00	1.00	3.00
	1.33	1.33	1.00	4.50	3.00	3.00		1,00	1.00	9.00	9.00	9.00	1.00
	2.00	2.00	1.00	4.00	4.00	4.00		2.00	1.00	2.00	2,00	2.00	2.00
337	18.62	23.94	63.00	45.00	102.00	84.00	1961	89.00	180.00	72.00	144.00	400.50	162.00
SII	SIL	3II	SIL	SIL	SII	SII	Sft	SII	SIT	Sft	ns.	Sft	Sft
33/							1961						

Allowance for Consumables

Narsing Rao Mallapur Hyderabad

Date: 23.01.2023

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location: Type of Work: Mallapur Painting work

Towards:

Allowance for consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards F block terrace, compound wall, panel rooms	Rs.16077/-
	Total Amount = 80784/-	
	Work done from date 03.12.2022 to date 10.01.2022	

Amount in words: Sixteen thousand seventy seven Rupees Only.

Sign: Dary of for.

Bill for Labour Charges

Narsing Rao Mallapur Hyderabad

Date: 23.01.2023

In favor of: Project / Site: MR Mallapur LLP Gulmohar Residency

Location: Type of Work: Mallapur Painting work

Towards:

Allowance for labour charges.

S No.	Description	Amount
1.	Brief description of work done: Towards F block terrace, compound wall, panel rooms Total Amount = 80784/- Work done from date 03.12.2022 to date 10.01.2022	Rs.32,153/-

Amount in words: Thirty two thousand one hundred fifty three Rupees Only.

Sign: John R-

Bill for Equipment Allowance

Narsing Rao Mallapur Hyderabad

Date: 23.01.2023

In favor of: Project / Site:

MR Mallapur LLP Gulmohar Residency

Location: Type of Work:

Mallapur Painting work

Towards:

Allowance for equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards F block terrace, compound wall, panel rooms Total Amount = 80784/- Work done from date 03.12.2022 to date 10.01.2022	Rs.32,153/-

Amount in words: Thirty two thousand one hundred fifty three Rupees Only.

Sign: Assiry Ran